[KeYa)
IO-/, of % = IoX - = 2.0'/~ o N = 20X . _L
100 10 od s
o/, A = k2 = X Remmmﬂ = xw_bé-_
‘e o .S
= KXY
lO‘/» 1T = Lo % <
'oo = &Q“/.
IO-/- \1/ = 9_0 R = RO X’L/: __L_LX
oo 7Y 5
~ N

@ , 5. 16 /. s /. 207, Remm‘m‘na =9

AX a5 x a0 ¢ 85 ¢ 8o

—

= Remaintng (R)

{ele) 16O (oo (OO
R+ too x f00 y 100 x too = Actual (A)
S5 90 &8s &0
A >R
: /
X */.

S ./‘ s /- of ® —> Nowd consider this i
. l IQO f‘-

J 7
to - q0+. of(as/ of X)

nous cohscdey
[ this (< i8¢

I =]

4
s/ 85/ o [ao. of (357
P-9 Noi- 80 -_ |
e A — 6/
B — 7 /
b</o = 80 mem
100/, = [00XRO

= 8000 Memhbhers-



Ta Te
20+/ qo /.
\_—__//
Yo/, =720
b/o = 18
/ '0cy/. = iooX R
= 800
B loa+/s votes = 7500
| < J N
7 Y ys/. of vald votes
S5/ BF yalid votes
1> y7so0 x 80 207 ar
[feYe) ) 0G inuadcd
votes
= 2700
100+/. votes
I ’
/ " ’
54+. of vahd votes

Ye v/ of walid votes

&

oo

b8

&+/- of valid= 1520

—

X
X4626% I0 . 40 _ (g0
: too (oo

620X (00 KI60XK /00

Q0XA0 X8

-

25060

100 «/. votes




53
o (
A
J \1
Sﬂnel.‘gkble candidates eliibte /
S/
S/ of % K /I of X
G- C. O C
&S/ (A5 of 1) IS of (a5 of %)
=4 27
(S X AS XA =\ya1s
o (o0
/ o= 304,000
A He spent 30Y. , 407 SO/ of g,4oo
ackal T BHOO R {’0—00 X _(60% X f: - Remojnfna amount:
amount © ‘
< 3RE6Y &— mvfh(a- OJWOLU\{‘ N
- v
H@ SPG% 1o '/-; ’S‘/- (O'/ /
Remo.l‘bi‘f)g = 1,371
1377 X 160 x oo X 10D
q0 &S 9o
Actual = 2600
> 2000 200!
Thvestment = X Investment =(X~§Foo00)
Pr.roﬁ‘{-; QG'/- ’j‘ PY‘O‘Q‘E = 2,@-/_ ’]\
Thcome = Thcome
120 o - 126 % (x~-so00)
{ols} Ha'e}
X = 1, 05,000
7 10,000 X o y 80 , (30
(00 ) (oo

= U, yYo-



Qo Y. toy-
tooo X 80 ¢
' {oo
/
= 720

0
(OO

Discount = Ioco —726

< 280

Is/. 15‘7‘\
(copX 85 w BS
{00 (0
= RA+S

Discount =

D00 — 722-5

ZR?77-%50
10~
Passad = 100-/. ~ (3. £/ +&[)
= 62/, - 243
/
</ —> 4
100 +/. —> Yoo
i'o
: 7,8
3 ) %
Bus IO‘/. 657 . of X
Qs /. | [ |
/ lj \I’Bo’oks
Feod SO, of (65 66 1)
SCY/. of (65¢ - of X) —oe
So . [y
- X . -
{ o0 TOE’ X 26
H = &6 RS -
J
/AL t : 2. d >
50/ &0 /. €5/,
I¥XSO + 2x60 t+ 2XES - 60'/,

s



19 -

( 785 %) J
11~ a5
306
X = 29-4iy
= 30 k3
NO: of cans = 20 .
==
cost = 1exi1s = 2yo

O"?Jc-+/7é:<ao — &
teat +A-25 =11y —> O X2

1

—~0-3+t = -2y

+ = & Rs/ -

20
pa-Y) o &0
g o
e of 20 ";9\/ nds | MO . of &0

=H <asyr| =soy. [ <25 gr
old < 2syr ole
old



